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Part  III — Vocational Subjects

Ai¨£øh ªß ö£õÔ°¯À & P¸zv¯À

BASIC ELECTRICAL ENGINEERING - THEORY

( uªÌ ©ØÖ® B[Q» ÁÈ / Tamil & English Version )

Põ» AÍÄ : 3.00 ©o ÷|µ® ] [ ö©õzu ©v¨ö£sPÒ : 90

Time Allowed : 3.00 Hours ] [ Maximum Marks : 90

AÔÄøµPÒ : (1) AøÚzx ÂÚõUPÐ® \›¯õP £vÁõQ EÒÍuõ Gß£uøÚ \›£õºzxU
öPõÒÍÄ®. Aa_¨£v¨¤À SøÓ°¸¨¤ß AøÓU PsPõo¨£õÍ›h®
EhÚi¯õPz öu›ÂUPÄ®.

(2) }»® AÀ»x P¸¨¦ ø©°øÚ ©mk÷© GÊxÁuØS®
AiU÷PõikÁuØS® £¯ß£kzu ÷Ásk®. £h[PÒ ÁøµÁuØS
ö£ß]À £¯ß£kzuÄ®.

Instructions : (1) Check the question paper for fairness of printing.  If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

£Sv & I / PART – I

SÔ¨¦ : (i) AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. 15x1=15

(ii) öPõkUP¨£mkÒÍ ©õØÖ ÂøhPÎÀ ªPÄ® HØ¦øh¯ Âøhø¯z

÷uº¢öukzxU SÔ±mkhß Âøh°øÚ²® ÷\ºzx GÊuÄ®.

Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives

and write the option code and the corresponding answer.

!6802AIstYearBasicElectricalEngineering! £vÄ Gs
Register Number

6802(A)
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1. _Âm_ BÚx __________ Ehß CønUP¨£kQÓx.

(A) Gºz J¯º (B) L÷£ì J¯º

(C) {³mµÀ J¯º (D) CÁØÖÒ HxªÀø»

Switch should always be connected with :

(a) Earth wire (b) Phase wire

(c) Neutral wire (d) None of these

2. ªß÷Úõmhzøu AÍUP¨ £¯ß£kÁx :

(A) Áõm «mhº (B) A®«mhº

(C) GÚºâ «mhº (D) ÷ÁõÀm«mhº

The value of current is measured by :

(a) Wattmeter (b) Ammeter

(c) Energy meter (d) Voltmeter

3. ªÚµÀ B°À Gß£x J¸ :

(A) ö©ßø©¯õÚ ªßPõ¨¦ ö£õ¸Ò

(B) vh ªßPhzv

(C) vµÁ ªßPõ¨¦ ö£õ¸Ò

(D) vµÁ ªßPhzv

Mineral oil is a :

(a) Soft Insulator

(b) Solid Conductor

(c) Liquid Insulator

(d) Liquid Conductor

4. Põ¢u Âø\U ÷PõkPÎß vø\ :

(A) Áh x¸Ázv¼¸¢x öuß x¸Á®

(B) Põ¢uzvß J¸ •øÚ°¼¸¢x ©ØöÓõßÖUS

(C) öuß x¸Ázv¼¸¢x Áh x¸Á®

(D) CÁØÖÒ HxªÀø»

The direction of magnetic lines of force is :

(a) From North Pole to South Pole

(b) From one end of the magnet to other

(c) From South Pole to North Pole

(d) None of these



[ v¸¨¦P / Turn over

3 6802(A)

5. J¸ ö£õ¸øÍ Põ¢u©õUQ¯ ¤ÓS Aøu Põ¢uªÀ»õv¸UPa ö\´²®÷£õx
ö\»ÁõQßÓ vÓß __________ GÚ¨£k®.

(A) îìh›]ì (B) öPõ¯º]Âmi

(C) u[QU öPõsh Põ¢u \Uv (D) ö£ºª¯¤¼mi
The energy required to demagnetise the residual magnetism of material is

called :

(a) Hysterisis (b) Coercivity

(c) Residual magnetism (d) Permeability

6. ""ysh¨£k® ªßÛ¯US Âø\°ß vø\¯õÚx Ax EshõÁuØSU Põµn©õÚ
Á¼ø©U÷Põ, ©õÖuxU÷Põ GvµõÚx'' Gß£x __________.

(A) •øÚ Âv

(B) ¤Íª[Qß Á»UøP Âv

(C) ö»ßì Âv

(D) ¤Íª[Qß ChUøP Âv
“A change in current produces an emf, whose direction is in such a way that it

opposes the change in current” is __________.

(a) End rule

(b) Fleming’s right hand rule

(c) Lenz’s law

(d) Fleming’s left hand rule

7. E»ºÁøP ªßP»zvÀ Põº£ß usk __________ ªßÁõ´.

(A) {ø» (B) ÷|º (C) {³mµÀ (D) Gvº
In dry cell, carbon rod is _________ electrode.

(a) Phase (b) Positive (c) Neutral (d) Negative

8. iâmhÀ ªß BØÓÀ©õÛø¯ £¯ß£kzxÁuØPõÚ Põµn® :

(A) AÍÂÀ ]Ô¯x (B) }shPõ» EøÇ¨¦

(C) AvP xÀ¼¯® (D) ÷©ØTÔ¯ AøÚzx®
Digital energy meters are used for the following reason :

(a) Small size (b) Long life

(c) High accuracy (d) All of the above

9. Ea\U Põµo°ß ©v¨¦ :

(A) 1.414 (B) 2
π

(C) 1.11 (D)
2

π

The value of peak factor is :

(a) 1.414 (b) 2
π

(c) 1.11 (d)
2

π
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10. ]¼UPõß ìjÀ uPkPÒ £¯ß£kzxÁuõÀ SøÓÁx :

(A) îìh›]ì CÇ¨¦

(B) Eµõ´ÂÚõÀ HØ£k® CÇ¨¦

(C) Gi ªß\õµ CÇ¨¦

(D) C¯¢vµÂ¯À CÇ¨¦

Silicon steel sheets are used to reduce the :

(a) Hysterisis loss

(b) Frictional loss

(c) Eddy current loss

(d) Mechanical loss

11. Bº©a`º GÚ¨£kÁx __________ BÀ BÚx.

(A) Põ¨¤h¨£mh A¾ªÛ¯® (B) A¾ªÛ¯®

(C) Põ¨¤h¨£mh GLS (D) GLS

The armature is made up of  :

(a) Laminated aluminium (b) Aluminium

(c) Laminated steel (d) Steel

12. G¢u ÁøP ªß÷Úõi ©õÖvø\ ªß\õµzv¾®, ÷|ºzvø\ ªß\õµzv¾®
C¯[S® ?

(A) ²ÛÁº\À ªß÷Úõi (B) ¤›¢u {ø» ªß÷Úõi

(C) ªß÷uUQ xÁUP ªß÷Úõi (D) ÷åhm x¸Á ªß÷Úõi

Which motor is used in both AC and DC supply ?

(a) Universal motor (b) Split phase motor

(c) Capacitor start motor (d) Shaded pole motor

13. J¸ Svøµz vÓß Gß£x :

(A) 746 Áõmì (B) 736 Áõmì (C) 766 Áõmì (D) 756 Áõmì

One horse power is equal to :

(a) 746 watts (b) 736 watts (c) 766 watts (d) 756 watts
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14. ¤ßÁ¸ÁÚÁØÔÀ P»¨¦ E÷»õP® Gx ?

(A) ¤zuøÍ (B) Áõº¨¤¸®¦ (C) ¤ÍõmiÚ® (D) uõªµ®

Which one of the following is an alloy ?

(a) Brass (b) Cast iron (c) Platinum (d) Copper

15. Ámh¨ £õøu°À EÒÍ G»UmµõßPøÍ Psk¤iUP £¯ß£k® `zvµ®
__________.

(A) 2n2 (B) 2n (C) n2 (D) 2n3

The number of electrons in any orbit is calculated by the formula :

(a) 2n2 (b) 2n (c) n2 (d) 2n3

£Sv & II / PART - II

SÔ¨¦ : GøÁ÷¯Ý® £zx ÂÚõUPÐUS Âøh¯ÎUPÄ®. ÂÚõ Gs 28 &US
Pmhõ¯©õP Âøh¯ÎUPÄ®.

Note : Answer any ten questions.  Q.No. 28 is Compulsory.

16. J¸ ªß_ØÔß ªßÚÊzu® 240 ÷ÁõÀm. A®ªß_ØÔß ÁÈ÷¯ 12 B®¤¯º
ªß÷Úõmh® £õ´¢uõÀ, A®ªß_ØÔß ªß uøhø¯U Psk¤iUPÄ®.

Voltage of circuit is 240 V and 12 A, current is flowing through it. Find the value

of Resistance.

17. ¼zv¯® A¯Û ªßP»zvß £¯ßPÒ ¯õøÁ ?

Write down the applications of Lithium ion battery.

18. ªß EØ£zv {ø»¯[PÎß ÁøPPøÍU TÖP.

List the types of power generating plants.

19. ö\õ¼Úõ´k ©ØÖ® öhõµõ´k GßÓõÀ GßÚ ?

What is Solenoid and Toroid ?

20. RMS ©v¨¦ – Áøµ¯ÖUPÄ®.

Define RMS value ?

21. ªß©õØÔ°ß |ßø©PÒ ¯õøÁ ?

What are the advantages of transformer ?

10x3=30
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22. ªß©õØÔ Hß KVA AÍÂÀ SÔ¨¤h¨£kQÓx ?
Why transformer rating is in KVA ?

23. Põº£ß öuõkÂ £ØÔ TÖP.
Write about carbon brushes.

24. Yoke &ß ÷Áø» ¯õx ?
What are the functions of Yoke ?

25. AoÀ Tk _Ç¼°ß |ßø©PÒ ©ØÖ® wø©PøÍU TÖP.
Write down the advantages and disadvantages of Squirrel cage rotor.

26. ö£õÔ°¯À ö£õ¸ÒPøÍU SÔ¨¤mh ÷uøÁUS ÷uº¢öukUS®÷£õx PÁÛUP
÷Ási¯ A®\[PÒ ¯õøÁ ?
State the factors to be considered for the selection of materials for engineering

applications.

27. CCTV ÷P©µõÂß ÁøPPÒ ¯õøÁ ?
What are the different types of CCTV camera ?

28. iµõß]ìhº GßÓõÀ GßÚ ? Auß ÁøPPøÍU TÖP.
What is Transistor and write down its types.

£Sv & III / PART - III

SÔ¨¦ : GøÁ÷¯Ý® I¢x ÂÚõUPÐUS Âøh¯ÎUPÄ®. ÂÚõ Gs 35 &US
Pmhõ¯©õP Âøh¯ÎUPÄ®.

Note : Answer any five questions. Q.No. 35 is Compulsory.

29. JØøÓa_¸Ò ªß©õØÔ £ØÔ GÊxP.
Explain about Auto-transformer.

30. ªßPõ¢u®, {ø»UPõ¢u® – J¨¤kP.
Compare electro-magnet and permanent magnet.

31. PõŸ¯ Aª» ©ØÖ® ¼zv¯® A¯Û ªßP»zvØS® Cøh÷¯ EÒÍ ÷ÁÖ£õmk
A®\[PÒ HÈøÚ GÊxP.
Write seven features about the disparity between a lead acid and a lithium ion

battery.

5x5=25
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32. ªß©õØÔ°À HØ£k® CÇ¨¦PÒ £ØÔ _¸UP©õP ÂÁ›UPÄ®.
Briefly explain losses that occur in transformer.

33. ÷\¼¯ßm x¸Á _Ç¼ø¯²® E¸øÍ ÁiÁ _Ç¼ø¯²® J¨¤kP.
Compare the salient pole type rotor with smooth cylindrical type rotor.

34. £À÷ÁÖ JÎ°¯À ö£õ¸mPÎß £¯ß£õk ©ØÖ® öuõÈÀ ~m£zøu
AmhÁøn¨£kzxP.
Tabulate the applications of various optical materials and technology.

35. ÷Áø», vÓß, ªßBØÓÀ – _¸UP©õP ÂÁ›UPÄ®.
Briefly explain Work, Power and Energy.

£Sv & IV / PART - IV

SÔ¨¦ : AøÚzx ÂÚõUPÐUS® Âøh¯ÎUPÄ®. ÷uøÁ¯õÚ Ch[PÎÀ £h®
Áøµ¯Ä®.

Note : Answer all the following questions.  Draw diagrams wherever necessary.

36. (A) ªß Põ¢uz ysh¼ß ÁøPø¯¨ £hzxhß ÂÁ›UPÄ®.

AÀ»x

(B) Põ›¯ Aª» ªßP»zvß Aø©¨¦ ©ØÖ® ö\¯À£k® ÂuzvøÚ £hzxhß
ÂÍUSP.

(a) Explain the types of electro-magnetic induction with neat diagram.

OR

(b) Explain the construction and working principle of Lead acid battery.

37. (A) ²ÛÁº\À ªß÷Úõi°ß £h® Áøµ¢x ÂÁ›UPÄ®.

AÀ»x

(B) ö£õ¸mPÎß C¯¢vµÂ¯À £s¦PøÍ ÂÁ›UPÄ®.
(a) Explain with neat sketch about Universal Motor.

OR

(b) Explain the mechanical properties of materials.

- o 0 o -

2x10=20




